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Let x +y = 10. Which of the following
choices of x and y has the largest product xy?
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ANNOUNGEMENTS

 Dr. Hood’s Office Hours in Math 844

o Mon and Wed at 3:30-4:30pm
o Friday at 2:30-3:30pm

* TA’s Office Hours in the
o WTHR 313
o Mon — Thu from 9:30am — 8:30pm
o Fri from 9:30am — 3:30pm



https://www.math.purdue.edu/academic/courses/helproom
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POLL 1

Find the critical points of P = x(10 — x)
P(—z_) - /D X = 'lz
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c) x = 6




POLL 2

What is the constraint for this
optimization problem?

>d) Yy = COS (Zx)
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